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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant 

questions, by a panel of subject teachers.  This mark scheme includes any amendments made at the 

standardisation events which all associates participate in and is the scheme which was used by them in 

this examination.  The standardisation process ensures that the mark scheme covers the students’ 

responses to questions and that every associate understands and applies it in the same correct way.  

As preparation for standardisation each associate analyses a number of students’ scripts.  Alternative 

answers not already covered by the mark scheme are discussed and legislated for.  If, after the 

standardisation process, associates encounter unusual answers which have not been raised they are 

required to refer these to the Lead Examiner. 

 

It must be stressed that a mark scheme is a working document, in many cases further developed and 

expanded on the basis of students’ reactions to a particular paper.  Assumptions about future mark 

schemes on the basis of one year’s document should be avoided; whilst the guiding principles of 

assessment remain constant, details will change, depending on the content of a particular examination 

paper. 

 

 

Further copies of this mark scheme are available from aqa.org.uk 

 

 

Copyright information 

 

AQA retains the copyright on all its publications. However, registered schools/colleges for AQA are permitted to copy material from this booklet for their own 
internal use, with the following important exception: AQA cannot give permission to schools/colleges to photocopy any material that is acknowledged to a third 
party even for internal use within the centre.  

Copyright © 2020 AQA and its licensors. All rights reserved.  
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Part 1 – General marking guidance for GCSE MFL Writing Tests 
 
Level of response marking instructions 

 

Level of response mark schemes are broken down into levels, each of which has a descriptor.  The 

descriptor for the level shows the average performance for the level.  There are marks in each level. 

 

Step 1 Determine a level 

 
Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the 
descriptor for that level.  The descriptor for the level indicates the different qualities that might be seen in 
the student’s answer for that level.  If it meets the lowest level then go to the next one and decide if it 
meets this level, and so on, until you have a match between the level descriptor and the answer.  With 
practice and familiarity you will find that for better answers you will be able to quickly skip through the 
lower levels of the mark scheme. 
 
When assigning a level you should look at the overall quality of the answer and not look to pick holes in 
small and specific parts of the answer where the student has not performed quite as well as the rest.  If 
the answer covers different aspects of different levels of the mark scheme you should use a best fit 
approach for defining the level and then use the variability of the response to help decide the mark within 
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be 
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content. 

 

Step 2 Determine a mark 

 
Once you have assigned a level you need to decide on the mark.  The descriptors on how to allocate 
marks can help with this. The exemplar materials used during standardisation will help.  There will be an 
answer in the standardising materials which will correspond with each level of the mark scheme.  This 
answer will have been awarded a mark by the Lead Examiner.  You can compare the student’s answer 
with the example to determine if it is the same standard, better or worse than the example.  You can then 
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example. 
 
You may well need to go back through the answer as you apply the mark scheme to clarify points and 
assure yourself that the level and the mark are appropriate. 
 
Indicative content in the mark scheme is provided as a guide for examiners.  It is not intended to be 
exhaustive and you must credit other valid points.  Students do not have to cover all of the points 
mentioned in the Indicative content to reach the highest level of the mark scheme. 
 

An answer which contains nothing of relevance to the question must be awarded no marks. 
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Marks will be allocated in the following way at Higher Tier: 

 Content Quality of 

language 

Range of 

language 

Accuracy Conveying 

key 

messages 

Application of 

grammatical 

knowledge of 

language and 

structures 

Total 

Question 1 10 6     16 

Question 2 15  12 5   32 

Question 3     6 6 12 

Total 25 6 12 5 6 6 60 

 
Higher Question 1 / Foundation Question 4 
 
10 marks for Content + 6 marks for Quality of language (16 marks in total). 
 
Candidates write approximately 90 words in total about four different bullet points.  All bullet points must 
be covered, but there is no need for equal coverage of the bullets.  
 
When deciding a particular mark, it is advisable to identify the band of marks first, and then decide 
whether you are tempted by the band above or the band below.  This will enable you to award an 
appropriate mark within a mark range. 
 
The question is marked for Content and for Quality of language, according to the following criteria  
 
(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2): 
 
Content 
 

Marks Response 

9–10 
A very good response covering all aspects of the task.  Communication is clear and a lot 
of information is conveyed.  Opinions are expressed. 

7–8 
A good response covering all aspects of the task.  Communication is mostly clear but 
perhaps with occasional lapses.  Quite a lot of information is conveyed.  Opinions are 
expressed.   

5–6 
A reasonable response covering almost all aspects of the task. Communication is 
generally clear but there are likely to be lapses.  Some information is conveyed.  An 
opinion is expressed. 

3–4 
A basic response covering some aspects of the task.  Communication is sometimes clear 
but there are instances where messages break down.  Little information is conveyed.  An 
opinion is expressed. 

1–2 
A limited response covering some aspects of the task.  Communication is often not clear 
and there may be frequent instances where messages break down.  Very little 
information is conveyed.  There may be no opinions expressed. 

0 The content does not meet the standard required for a mark at this tier. 

 
The candidate’s response must be relevant to the bullet points.  Any information which cannot be 
deemed relevant in the broadest sense must be ignored when awarding the mark for Content. 
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• A minimum number of bullet points must be covered for the award of marks for Content, as follows: 
 
o 7–10 marks: 4 bullet points 

o 5–6 marks:   3 bullet points 

o 3–4 marks:   2 bullet points 

o 1–2 marks:   1 bullet point 
 

The information that the candidate gives must be clear.  If what is written is unclear, this will have a 
bearing on the mark for Content.  For example, the candidate may convey information in relation to all 
four bullet points, but lapses in clarity may mean that a mark lower than the 7–10 band is more 
appropriate.  The more lapses in clarity that there are, the lower the mark is likely to be.  All of the 
information that a candidate attempts to give in relation to a particular bullet point may be 
unintelligible, in which case that bullet point will not have been covered, meaning that the maximum 
mark will be 6. 

 

• You must accept any information which is a plausible response to the bullet point, even if it does not 
explicitly mention, for instance, a time or place.  For example, if the bullet asks what the candidate did 
last weekend, and he/she writes ‘I went to see my grandparents and then went to a theme park’, this 
can feasibly be an account of what happened last weekend, even though ‘last weekend’ is not 
mentioned. Equally, if the student is asked to say what he/she does on a typical visit to a shopping 
centre and they write ‘I bought some clothes and went to see a film’, this is also an acceptable 
fulfilment of the task, even though ‘shopping centre’ is not mentioned. 

 

• The bands refer to the amount of information that is conveyed, as follows: 
 

9–10: a lot 
7–8: quite a lot 
5–6: some 
3–4: little 
1–2: very little 

 
All of these have to be considered with reference to the suggested number of words, which is 
approximately 90.  In other words, a candidate who writes approximately 90 words, clearly 
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the 
other criteria are met.  Conversely, a candidate may write much more than 90 words, but the language 
is so inaccurate that little or very little information is conveyed successfully and the mark will be much 
lower.  If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be 
conveyed. 

 

• The candidate must give opinions in order to have access to certain marks, as follows: 
 

7–10: two opinions 
3–6: one opinion 

 
This is not an automatic mark and the other criteria within a particular band must be met.  If there is no 
opinion, the maximum mark is 2.  An opinion may be expressed simply, for example: ‘I like going 
shopping’.  Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion.  A 
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think 
that’.  For example: ‘I think that my town is big’. 
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Quality of language 

Marks Response 

5–6 

A variety of appropriate vocabulary is used.  Complex structures and sentences are 
attempted.  There are references to three time frames, which are largely successful. 
Errors are mainly minor.  Some more serious errors may occur, particularly in complex 
structures and sentences, but the intended meaning is nearly always clear.  The style 
and register are appropriate. 

3–4 

Some variety of appropriate vocabulary is used.  There may be some attempt at 
complex structures and sentences.  There are references to at least two different time 
frames, although these may not always be successful.  There may be some major 
errors, and more frequent minor errors, but overall the response is more accurate than 
inaccurate and the intended meaning is usually clear.  The style and register may not 
always be appropriate. 

1–2 

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of 
the task.  Sentences are mainly short and simple or may not be properly constructed. 
There may be frequent major and minor errors.  Little or no awareness of style and 
register. 

0 The language produced does not meet the standard required for a mark at this tier. 

 
The whole of the response must be assessed when awarding the mark for Quality of language, even if 
some of it is irrelevant to the bullet points. 
 
Once you have decided on the mark for Content, you should read through the response once more and 
decide on the mark for Quality of language.  A mark of 0 for Content automatically results in a mark of 0 
for Quality of language but, apart from that, the Content mark does not limit the mark for Quality of 
language.  However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality 
of language. 
 

• Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference 
to time frames; accuracy of the language; style and register.  Sometimes it will be necessary to adopt 
a ‘best fit’ approach, because the five strands will not be consistently demonstrated.  Whether it is the 
top or bottom mark in the band will depend on whether the criteria are nearer to those of the band 
above or below. 

 

• In order to score in the 5–6 band, there must be reference to all three time frames (past, present and 
future).  For the 3–4 band, there must be reference to at least two time frames.  Reference to a 
particular time frame may be demonstrated with one example.  The verb used to refer to a particular 
time frame need not be totally correct, provided the message is clear.  These marks are not awarded 
automatically and the other criteria in the band are equally important.  Notice that references are to 
time frames, not tenses.  So, for example, the present tense usage in the following sentence is a 
reference to a future time frame: ‘I’m going to the concert next week’. 

 

• When considering the complexity of the language, you should bear in mind that a) this is the overlap 
question and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of 
language in this question are not as demanding as the language criteria for Higher Question 2.  
However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not 
always be successful and this may lead to serious errors because of the complexity of the structure or 
sentence which the candidate attempts.  Complexity may be shown in some of the following ways: 
different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.  
This should not be seen as a ‘tick list’, but rather as an indication of the definition of complexity at 
GCSE level. 
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• The setting and bullet points are likely to mean that the style and register of the writing will be 
appropriate.  If informal address is used when the task is in a formal setting, or vice versa, there is no 
need to penalise the candidate merely for that.  It may, however, be a contributory factor in the award 
of the overall mark if there are other weaknesses.  There is no requirement for candidates to present 
their piece of writing in a particular way because of the context, eg a blog or email does not need to 
look like a blog or email.  It is the content which is to be marked. 

 
Higher Question 2 
 
15 marks for Content + 12 marks for Range of Language + 5 marks for Accuracy (32 marks in total). 
 
Candidates write approximately 150 words in total about two different bullet points.  Both bullet points 
must be covered, but there is no need for equal coverage of the bullets.  
 
When deciding a particular mark, it is advisable to identify the band of marks first, and then decide 
whether you are tempted by the band above or the band below.  This will enable you to award an 
appropriate mark within a mark range. 
 
The question is marked for Content, for Range of Language and for Accuracy, according to the following 
criteria: 
 
Content 
 

Marks Response 

13–15 
An excellent response which is fully relevant and detailed, conveying a lot of 
information.  Communication is clear with little or no ambiguity.  Opinions are 
expressed and justified. 

10–12 
A very good response which is almost always relevant and which conveys a lot of 
information.  Communication is mostly clear but there are a few ambiguities.  Opinions 
are expressed and justified. 

7–9 
A good response which is generally relevant with quite a lot of information conveyed. 
Communication is usually clear but there are some ambiguities.  Opinions are 
expressed and may be justified. 

4–6 
A reasonable response with some relevant information conveyed.  Communication is 
sometimes clear but there may be instances where messages break down.  An 
opinion is expressed. 

1–3 
A basic response which conveys a limited amount of relevant information. 
Communication may not be clear and there are instances where messages break 
down.  An opinion may be expressed. 

0 The content does not meet the standard required for a mark at this tier. 

 
The candidate’s response must be relevant to the bullet points.  Any information which cannot be 
deemed relevant must be ignored when awarding the mark for Content. 
 
However, as the bullet points are much more open-ended, there is scope for candidates to include 
information which is still relevant but not in direct response to a bullet point.  For example, when 
addressing a bullet point requiring a response about a memorable holiday, candidates may refer to 
where they might go on a future holiday.  Any information which cannot be deemed at all relevant must 
be ignored when awarding the mark for Content.



MARK SCHEME – GCSE MODERN HEBREW – 8678/WH – JUNE 2020 

 
 

 

8 

As with the overlap question, you must accept, as an accomplishment of the task, any plausible 
response to a bullet point, even if an element such as time or place are missing. 
 

• In order to score a mark of 13 or more for Content, both bullet points must be covered.  However, 
there is no requirement for an equal coverage of both bullet points. 

 

• A candidate who conveys information in relation to one bullet point only can score a maximum of 12 
marks for Content. 

 

• Provided at least some coverage of both bullet points is evident, candidates will have access to full 
marks where the other criteria are met. 

 

• The bands refer to the amount of information that is conveyed, as follows: 
 
13–15: a lot 
10–12: a lot 
7–9: quite a lot 
4–6: some 
1–3: a limited 

amount 
 

All of these have to be considered with reference to the recommended number of words, which is 
approximately 150.  In other words, a candidate who writes approximately 150 words, clearly 
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the other 
criteria are met.  Conversely, a candidate may write much more than 150 words, but the language is 
so inaccurate that only a limited amount of information is conveyed successfully.  If a candidate writes 
considerably fewer than 150 words, ‘a lot of information’ will not be conveyed. 

 

• The candidate must give and justify opinions in order to have access to certain marks, as follows: 
 

10-15: at least two opinions are expressed and justified 
7-9: at least two opinions are expressed 
4-6: at least one opinion is expressed 

 
This is not an automatic mark and the other criteria within a particular band must be met.  If there is no 
opinion, the maximum mark is 3. An opinion may be expressed simply, for example: ‘I like going 
shopping’.  Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion or a 
justification of an opinion.  A neutral or descriptive adjective is only classed as an opinion or a 
justification if it is preceded by something like ‘I think that’.  For example: ‘I think that my town is big’ 
(opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like my town because it 
is big’ (opinion + justification). 

 

• Once the correct band has been decided upon, the middle mark in the band will be given to a 
candidate whose writing fits the band well.  If the band above was a consideration, then award the 
higher of the three marks; if the band below was a consideration, then award the lower of the three 
marks. 
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Range of language 
 

Marks Responses 

10–12 
Very good variety of appropriate vocabulary and structures.  More complex sentences 
are handled with confidence, producing a fluent piece of coherent writing.  The style and 
register are appropriate. 

7–9 
Good variety of appropriate vocabulary and structures.  More complex sentences are 
regularly attempted and are mostly successful, producing a mainly fluent piece of 
coherent writing with occasional lapses.  The style and register are appropriate. 

4–6 
Some variety of appropriate vocabulary and structures. Longer sentences are attempted, 
using appropriate linking words, often successfully.  The style and register may not 
always be appropriate. 

1–3 
Little variety of appropriate vocabulary.  Structures are likely to be short and simple.  
Little or no awareness of style and register. 

0 
The range of language produced does not meet the standard required for a mark at this 
tier. 

 
The whole of the response must be assessed when awarding the mark for Range of language, even if 
some of it is irrelevant to the bullet points. 
 
Once you have decided on the mark for Content, you should read through the response once more and 
decide on the mark for Range of language and for Accuracy.  A mark of 0 for Content automatically 
results in a mark of 0 for Range of language but, apart from that, the Content mark does not limit the 
Range of language mark.  However, a short piece is unlikely to show sufficient variety for a high mark for 
Range of language.  
 

• Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences; 
fluency of the writing; style and register.  For a mark of 12, there will be good evidence that the criteria 
for all five strands have been met comfortably.  Sometimes it will be necessary to adopt a ‘best fit’ 
approach, because the five strands will not be consistently demonstrated.  Once the correct band has 
been decided upon, the middle mark in the band will be given to a candidate whose writing fits the 
band well.  If the band above was a consideration, then award the higher of the three marks; if the 
band below was a consideration, then award the lower of the three marks. 

 

• There must be more complex sentences for the candidate to score 7 marks or more.  For a mark in the 
10–12 band, the complex sentences are produced confidently, with few errors in structure; for a mark 
in the 7–9 band, the attempts at complex sentences are mostly successful.  Complex sentences may 
be formed in some of the following ways across the languages: use of subordinate clauses; use of 
relative clauses; use of infinitive constructions; the use of object pronouns within a sentence to lend 
greater fluency.  This should not be seen as a ‘tick list’, but rather as an indication of the definition of 
complexity at GCSE level. 

 

• The setting and bullet points are likely to mean that the style and register of the writing will be 
appropriate.  If informal address is used when the task is in a formal setting, or vice versa, there is no 
need to penalise the candidate merely for that.  It may, however, be a contributory factor in the award 
of the overall mark if there are other weaknesses. 

 

• There is no requirement for candidates to present their piece of writing in a particular way because of 
the context, eg a blog or email does not need to look like a blog or email.  It is the content which is to 
be marked. 
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Accuracy 
 

Marks Response 

5 
Accurate, although there may be a few errors especially in attempts at more complex 
structures.  Verbs and tense formations are secure. 

4 
Generally accurate.  Some minor errors.  Occasional major errors, usually in attempts at 
more complex structures.  Verbs and tense formations are nearly always correct. 

3 
Reasonably accurate.  There are likely to be minor errors and there may be some major 
errors, not only in complex structures.  Verb and tense formations are usually correct. 

2 
More accurate than inaccurate.  The intended meaning is generally clear.  Verb and 
tense formations are sometimes correct. 

1 
There may be major errors and frequent minor ones, and the intended meaning is not 
always clear.  There is only limited success with verb and tense formations. 

0 The accuracy does not meet the standard required for a mark at this tier. 

 
The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it is 
irrelevant to the bullet points. 
 
A mark of 0 for Content automatically results in a mark of 0 for Accuracy but, apart from that, the Content 
mark does not limit the Accuracy mark.  However, a short piece is unlikely to show sufficient evidence for 
a very high mark for Accuracy. 
 

• For the award of 5 marks, the writing need not be perfectly accurate.  There may be errors in attempts 
at more complex language and the occasional minor error, but these will be infrequent. A minor error 
is one which has no bearing on communication (for example, incorrect gender), whereas a major error 
is one where communication is affected. 

 

• For a piece of writing that contains a good number of errors, a useful starting point will be to decide 
whether overall it is more accurate than inaccurate.  If it is, then the minimum mark will be 2. 

 

• A major consideration in awarding marks for accuracy is correctly formed verbs and tense formations.  
All verbs and tense formations should be considered here but as there are only two bullet points in this 
question, only two time frames will be elicited.  While some candidates will develop their ideas and, in 
so doing, use a third time frame and different tenses, there is not the same requirement as there in in 
Foundation Question 4/Higher Question 1 to refer to all three time frames. 

 
Higher Question 3 
 
6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language 
and structures (12 marks in total). 
 
Candidates translate into the target language a passage in English, totalling at least 50 words.  The 
translation is marked for Conveying key messages and for Application of grammatical knowledge of 
language and structures, according to the following criteria: 
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Conveying key messages 

Marks Response 

6 All key messages are conveyed. 

5 Nearly all key messages are conveyed. 

4 Most key messages are conveyed. 

3 Some key messages are conveyed. 

2 Few key messages are conveyed. 

1 Very few key messages are conveyed. 

0 
The content does not meet the standard 
required for level 1 at this tier. 

 
The translation is divided into 13 key messages.  A tick will be awarded for each key message that is 
communicated, despite any minor inaccuracies.  The total number of ticks awarded equates to a mark 
according to this table: 
 

Total ticks Mark 

13 6 

11/12 5 

8/9/10 4 

5/6/7 3 

3/4 2 

1/2 1 

 
When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a 
native speaker understand the target language version without reference to the original English?’  If the 
answer is ‘yes’, award a tick. 
 
Application of grammatical knowledge of language and structures 
 

Marks Response 

6 Excellent knowledge of vocabulary and structures; virtually faultless. 

5 Very good knowledge of vocabulary and structures; highly accurate. 

4 Good knowledge of vocabulary and structures; generally accurate. 

3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate. 

2 Limited knowledge of vocabulary and structures; generally inaccurate. 

1 Very limited knowledge of vocabulary and structures; highly inaccurate. 

0 The language produced does not meet the standard required for Level 1 at this tier. 
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Once you have decided on the mark for Conveying key messages, you should read through the 
translation once more and decide on the mark for Application of grammatical knowledge of language and 
structures. 
 

• This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key 
messages is 0, in which case the mark for Application of grammatical knowledge of language and 
structures must also be 0. 

 

• There is no direct correlation between the two marks, but your first thought should be to see if the 
same mark is appropriate.  For example, a candidate may have been given 7 ticks and you have 
awarded a mark of 4 for Conveying key messages.  You may have had to hesitate when deciding on 
one of the ticks but just decided against it.  This may then encourage you to give a mark of 5, rather 
than 4, for Application of grammatical knowledge of language and structures. 

 

• If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and 
award a mark accordingly.  Not to do so will penalise unfairly those candidates who make an attempt 
but commit serious errors in so doing. 

 

• Perfection is not required for full marks.  For example, occasional missing accents and minor spelling 
errors do not preclude a top band mark.  However, if there are numerous minor errors and incorrect 
use of accents which change the meaning of a word, this is likely to have an impact on the mark for 
Application of grammatical knowledge of language and structures. 
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Appendix 1 
 
Notes on the use of language 
 
The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands 
of marks in the Quality of Language and Range of Language categories.  They should not be seen as a 
checklist. 
 
Variety of vocabulary 
 
Consider particularly: 
 

• use of synonyms, eg   אני מעדיף/מעדיפה rather than just  rather than אפשר/יכולים לראות , אני אוהב/אני אוהבת

just  יש  .טוב etc, rather than just יפה, נהדר ,

• different persons of the verb. 

• use of more sophisticated vocabulary – though the emphasis is on avoiding a lot of conspicuous 
repetition. 

 
Variety of structures 
 
Consider, for example: 
 

• use of infinitive constructions followed by prepositions (לנסוע ב, לרכוב על), adjectives ( ירצו חשוב ל, כדא' ), 

and after verbs (אני מעדיף/מעדיפה ללכת ל, אנחנו אוהבים ל and רוצה ל...מקוה ל... ) 

• use of object pronouns  

• use of indefinite pronouns/adjectives such as, מישהו,משהו,כל etc. 

• use of connectives such as  לא רק....אלא גם....ראשית....שנית...מלבד...  

•  use of adverbs and adverbial phrases such as בכל זאת, לעומת זאת, למשל, לרוע המזל 

• use of negatives ( כבר לא, אף לא   etc) 

• use of comparative expressions ( ..פחות/יותר מ ) 

• use of demonstrative adjectives and pronouns  (  (etc זה, זאת , האלה 

• use of possessive pronouns (  (etc לי, שלי 

• use of superlative adjective ( ביותר,הכי טוב, הכי חשוב...  etc) 

• use of complex sentences and a range of tenses 
 
Use of complex/longer sentences 
 
Consider: 
 

• use of subordinate clauses introduced by eg ...כאשר, בגלל, או כי, מפני ש...כדי ש etc 

• use of relative clauses introduced by .לא( יותר מ..,)לא( פחות מ(  .  etc. 

  
 
and, when considering use of longer sentences: 
 

• use of co-ordinating conjunctions: כך, אז, או, אבל . 
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Use of time frames/tenses 
 

• The criteria for Quality of Language in Foundation Question 4/Higher Question 1 include ‘references to 
two/three time frames’.  If a candidate refers to three time frames, it may well be through different 
tenses, but equally it could be through the use of the infinitive to indicate an intension for the future: 
 (future) בעתיד אני מקוה ל...

 

• The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’.  In this question, a candidate 
can impress by showing that he/she can use a good range of tenses, thereby adding to the range and 
complexity of language. 
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Appendix 2 
 
A glossary of terms used in the Writing assessment criteria 
 
NB This alphabetical list corresponds to all questions on both Foundation and Higher papers. 
 

ambiguity 
A problem with immediate communication caused by grammatical 
inaccuracy or a contradiction (eg ‘I love it because it’s boring’). 

appropriate Language which is suitable for the requirements of the task. 

coherent 
Language which is easy to follow with a logical sequencing of ideas. 
See ‘fluent’. 

complex sentences 
Sentences which contain a subordinate clause or clauses. 
See Appendix 1 for examples. 

complex structures See Appendix 1 for examples. 

confidence Accurate use of language. 

delay in communication 
A problem with immediate communication caused by grammatical or 
lexical inaccuracy. 

fluent 
Language which is easy to follow with a logical sequencing of ideas. 
See ‘coherent’. 

grammatical structures Structures which are listed in the specification. 

justified The reason for holding a stated opinion. 

key messages 
With reference to the translation questions on both papers, these are 
the key messages as identified in the mark scheme. 

lapses A problem with communication caused by grammatical inaccuracy 

linking words Words such as כי ,אבל, used to create longer sentences. 

longer sentences 
These may be complex, with more difficult subordinations, or more 
simple through the use of linking words. 

major errors Errors which impair communication. 

minor errors Errors which do not have a bearing on communication. 

opinions 
A positive/negative verb or adjective used to give an opinion; or a 
neutral adjective, such as ‘big’, preceded by something like ‘I think 
that’.  For example ‘I think that my bedroom is very small’. 

secure Accurate. 

structures See ‘grammatical structures’. 

style and register 
The style of writing.  Usually this will be determined by the nature of 
the task, requiring informal or formal register. 

time frames 
The use of tenses, with or without time markers, which refer to past, 
present or future events.  A present tense may be a future or past time 
frame. 

variety 
Use of different verbs’ nouns and adjectives which avoid a lot of 
conspicuous repetition. 
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Part 2 – Marking guidance for June 2020 series 

Question 01 

 

For this question, there are four compulsory bullet points which are assessed for Content (10 marks) 

and Quality of language (6 marks), as specified in the criteria below.  The maximum mark is 16.  The 

student is expected to produce approximately 90 words for this task.  The number of words is 

approximate and you must mark all work produced by the student. 

[16 marks] 

Content 

 

Level Marks Response 

5 9–10 A very good response covering all aspects of the task.  Communication is clear 
and a lot of information is conveyed.  Opinions are expressed. 

4 7–8 A good response covering all aspects of the task.  Communication is mostly 
clear but perhaps with occasional lapses.  Quite a lot of information is 
conveyed.  Opinions are expressed. 

3 5–6 A reasonable response covering almost all aspects of the task.  
Communication is generally clear but there are likely to be lapses.  Some 
information is conveyed.  An opinion is expressed. 

2 3–4 A basic response covering some aspects of the task.  Communication is 
sometimes clear but there are instances where messages break down.  Little 
information is conveyed.  An opinion is expressed. 

1 1–2 A limited response covering some aspects of the task.  Communication is often 
not clear and there may be frequent instances where messages break down. 
Very little information is conveyed.  There may be no opinions expressed. 

0 0 The content does not meet the standard required for Level 1 at this tier. 

 

Notes 

 

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at 

least some coverage of all bullet points is evident, students will have access to full marks where the 

other criteria are met. 
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Quality of language 

 

Level Marks Response 

3 5–6 A variety of appropriate vocabulary is used.  Complex structures and sentences 
are attempted.  There are references to three time frames, which are largely 
successful.  Errors are mainly minor.  Some more serious errors may occur, 
particularly in complex structures and sentences, but the intended meaning is 
nearly always clear.  The style and register are appropriate. 

2 3–4 Some variety of appropriate vocabulary is used.  There may be some attempt 
at complex structures and sentences.  There are references to at least two 
different time frames, although these may not always be successful.  There 
may be some major errors, and more frequent minor errors, but overall the 
response is more accurate than inaccurate and the intended meaning is usually 
clear.  The style and register may not always be appropriate. 

1 1–2 The range of vocabulary may be narrow, repetitive and/or inappropriate to the 
needs of the task.  Sentences are mainly short and simple or may not be 
properly constructed.  There may be frequent major and minor errors.  Little or 
no awareness of style and register. 

0 0 The language produced does not meet the standard required for Level 1 at this 
tier. 

 

Notes 

 

(a) A major error is one which seriously affects communication. 

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. 

Apart from that, the Content mark does not limit the mark for Quality of language. 

 

 
General rule for this question: 
 

• the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not, 
however, count as a reference to a present/past/future event (ie no annotation of Pr / P / F). 

 
Question 01.1 Content 
 
Bullet Comments 

שלכםאחד מבני המשפחה   Any member of the family including 
grandparents. 

 מה מיוחד במשפחה שלכם
 

 

 מה עשיתם לאחרונה עם המשפחה שלכם
 

Any activity- a trip/ a celebration/a game 
played together etc 

 איך תחגגו את יום הולדת הבא שלכם
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Question 01.2 Content 
 
Bullet Comments 

 Accept specific foods/ healthy food groups ארוחת בוקר בריאה
 

 דעתכם על עישון סיגריות
 

 

 מה למדתם לאחרונה על אורח חיים בריא
 

Must be something learnt. Not enough to 
mention PE lesson or activity done at break. 

 פעילות גופנית בעתיד
 

 

 
The following indicative content is an example of the response that students may give to this question. 
It demonstrates a balanced coverage of the compulsory bullet points. 
 

Either Question 

01.1 

This is a possible response (indicative content): 

 
 אני מתאר את אח שלי יאיר.

 יאיר בן אחת עשרה . יש לו שיער בהיר ועינים כהות.
 יאיר תמיד שמח. אני אוהב את יאיר כי הוא אוהב לעזור לכולם.

לדעתי המשפחה שלי מיוחדת מאד כי כולם דואגים לכולם ואנחנו מבלים יחד בסופי 
 שבוע.

חקים שח יחד.אנחנו מטיילים בפארק או מש  
בסופשבוע שעבר נסעתי עם המשפחה שלי לטיול באזור האגמים.טיילנו בהרים ושטנו 

 בסירה.הטיול היה מהנה  חזרנו הביתה עייפים אבל מרוצים.
 

 יום ההולדת הבא שלי יהיה בעשירי בינואר. אחגוג במסעדה עם בני משפחה וחברים.נאכל
ארוחת ערב חגיגית ולמנה אחרונה עוגת יום הולדת טעימה. זה יהיה מהנה. אני מקווה 

 שאקבל הרבה מתנות.
 

(101 words) 

 

[16 marks] 

or Question 

01.2 

This is a possible response (indicative content): 

 

 
 ,כאשר יש לי זמןכל בוקר אני אוכל ארוחת בוקר בריאה. אני אוכל סלט ירקות עם ביצה. 

 אני גם אוכל לחם מלא. ארוחת בוקר גדולה נותנת לי כח לכל היום . 
 אני לא מבין מדוע אנשים מעשנים סיגריות. זה מאד לא בריא ומזיק לבריאות.

אבל למה להרוס את הבריאות?  ,אני מבין שאנשים צריכים להירגע  

 
שעות שינה כל לילה.בר על החשיבות של שמונה ילאחרונה בשעור מחנך המורה ד  

 כאשר ישנים מספיק יכולים ללמוד טוב יותר ולהצליח בלימודים. 
בשבוע הבא אני רוצה להתעמל עם חברים כל ערב בפארק. נרוץ סביב הפארק ונשחק 

.כדורגל. ביום רביעי נלך לשחות בבריכה המקומית. שחיה בריאה ומהנה  

 
 (100 words) 

 

 [16 marks] 
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Question 02 

 

For this question there are two compulsory bullet points, which are assessed for Content (15 marks), 

Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below.  The 

maximum mark is 32.  The student is expected to produce approximately 150 words over the whole 

question.  The number of words is approximate and you must mark all work produced by the student. 

[32 marks] 

 

Content 

 

Level Marks Response 

5 13–15 An excellent response which is fully relevant and detailed, conveying a lot of 
information.  Communication is clear with little or no ambiguity.  Opinions are 
expressed and justified. 

4 10–12 A very good response which is almost always relevant and which conveys a lot 
of information.  Communication is mostly clear but there are a few ambiguities. 
Opinions are expressed and justified. 

3 7–9 A good response which is generally relevant with quite a lot of information 
conveyed.  Communication is usually clear but there are some ambiguities. 
Opinions are expressed and may be justified. 

2 4–6 A reasonable response with some relevant information conveyed. 
Communication is sometimes clear but there may be instances where 
messages break down.  An opinion is expressed. 

1 1–3 A basic response which conveys a limited amount of relevant information. 
Communication may not be clear and there are instances where messages 
break down.  An opinion may be expressed. 

0 0 The content does not meet the standard required for Level 1 at this tier. 

 

Notes 

 

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at 

least some coverage of both bullet points is evident, students will have access to full marks where the 

other criteria are met. 
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Range of language 

Level Marks Response 

4 10–12 
Very good variety of appropriate vocabulary and structures.  More complex 
sentences are handled with confidence, producing a fluent piece of coherent 
writing.  The style and register are appropriate. 

3 7–9 
Good variety of appropriate vocabulary and structures.  More complex 
sentences are regularly attempted and are mostly successful, producing a 
mainly fluent piece of coherent writing with occasional lapses.  The style and 
register are appropriate. 

2 4–6 
Some variety of appropriate vocabulary and structures.  Longer sentences are 
attempted, using appropriate linking words, often successfully.  The style and 
register may not always be appropriate. 

1 1–3 
Little variety of appropriate vocabulary.  Structures are likely to be short and 
simple.  Little or no awareness of style and register. 

0 0 
The range of language produced does not meet the standard required for Level 
1 at this tier. 

 

Notes 

A mark of zero for Content automatically results in a mark of zero for Range of language.  Apart from 

that, the Content mark does not limit the mark for Range of language. 

 

Accuracy 

Level Marks Response 

5 5 Accurate, although there may be a few errors especially in attempts at more 

complex structures.  Verbs and tense formations are secure. 

4 4 Generally accurate.  Some minor errors.  Occasional major errors, usually in 

attempts at more complex structures.  Verbs and tense formations are nearly 

always correct. 

3 3 Reasonably accurate.  There are likely to be minor errors and there may be 

some major errors, not only in complex structures.  Verb and tense formations 

are usually correct. 

2 2 More accurate than inaccurate.  The intended meaning is generally clear.  Verb 

and tense formations are sometimes correct. 

1 1 There may be major errors and frequent minor ones, and the intended meaning 

is not always clear.  There is only limited success with verb and tense 

formations. 

0 0 The accuracy does not meet the standard required for Level 1 at this tier. 

 

Notes 

(a) A major error is one which seriously affects communication. 

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy.  Apart from 

that, the Content mark does not limit the mark for Accuracy. 
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Question 02.1 Content 
 
Bullet Comments 

 
 יתרונות וחסרונות של רשתות חברתיות

Do not accept advantage/disadvantages which 
apply specifically to smart phone or emails. 

 
 שימוש בטכנולוגיה בעתיד

 

 
Question 02.2 Content 
 
Bullet Comments 

על יתרונות וחסרונות של שנת הפסקה 
 מלימודים

 

 

 במה תבחרו לעבוד בעתיד
 

Accept any profession/job 

 
The following indicative content is an example of the response that students may give to this question. 

It demonstrates a balanced coverage of the compulsory bullet points. 
 

Either Question 

02.1 

This is a possible response (indicative content): 

 
 אכתוב על יתרונות וחסרונות של רשתות חברתיות.

יכולים לשמור על קשר עם חברים ובני משפחה מכל העולם בקלות. ,בעזרת רשת חברתית  
אני מרגישה  ,החברתית. כאשר אני משתפת תמונותאני אוהבת לשתף תמונות ברשת 

 קרובה גם אל חברות ובני משפחה שגרים רחוק.
 

החסרון העיקרי הוא התמכרות. בני נוער  ,לרשת החברתית יש גם חסרונות רבים. לדעתי
 למודפנים ובמקום לאל רבים מבלים שעות ברשת החברתית. הם מפסיקים לתקשר פנים 

הם מבזבזים זמן ברשת החברתית. ,יתלמבחנים ולהכין שעורי ב  
רשת חברתית גם יכולה להיות מסוכנת. בני נוער יכולים לפגוש אנשים מסוכנים או 

 להיפגע מהתעללות. 
 

בעזרת הדואר  .אשלח דואר אלקטרוני לבת דודה שלי באוסטרליה ,בשבוע הבא
 האלקטרוני אני שומרת איתה על קשר והמרחק לא מפריע לי.

גלוש באינטרנט כדי לערוך קניות אני צריכה לקנות בגדים חדשים לבר אני גם רוצה ל
כי אני לא צריכה  ,שתיערך בחודש הבא.עריכת קניות באינטרנט נוחה ,אח שליהמצוה של 

 לצאת מהבית והמוצרים נשלחים עד הבית בלי צורך לסחוב.
!אני לא מבינה איך דור העבר הסתדר בלי הטכנולוגיה המודרנית  

 

(160 words) 

 [32 marks] 
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or Question 

02.2 

This is a possible response (indicative content): 

 
 מה דעתכם על שנת הפסקה מלימודים?

יש יתרונות וחסרונות. לשנת הפסקה מלימודים ,לדעתי  
ראשון, חשוב להירגע אחרי שנים רבות של לימודים לפני שממשיכים בלימודים יתרון 

 לתואר.
יתרון נוסף,שנת הפסקה מספקת הזדמנות לאדם הצעיר לעסוק בעבודות התנדבות 

 ולתרום לחברה בה הוא חי.
ששנת הפסקה מאחרת את המשך הלימודים ובעיקר אם לימודי  ,הבעיה הגדולה היא

כדי לסיים מוקדם ככל האפשר  ,להתחיל מהר ככל האפשרמומלץ  ,ההמשך ארוכים
 ולהשתלב בעבודה ראויה במהירות האפשרית.

אני טוב עם בני נוער מכיוון שאני מבין  .שבעתיד ארצה ללמד בני נוער ,תמיד חשבתי
לאחר הצלחה גדולה במבחני הביולוגיה  ,אך לאחרונה .אותם ומסתדר איתם מצוין

ארצה מאד להיות רופא. ובעתיד שניתי את דעתי,שלי  
 ,אשמח לעזור לחולים ולהקל על כאבם. אמנם האחריות גדולה ומספר שנות הלימוד רב

כי לדעתי אין סיפוק גדול יותר מהסיפוק שמקבלים  ,אבל אני בטוח שזה יהיה משתלם
.יםחולאנשים ל והבראה ש מריפוי  

. 

(136 words) 

 [32 marks] 

 

Question 03 

 

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical 

knowledge of language and structures (6 marks) as specified in the criteria below.  The maximum 

mark is 12.  When awarding the marks the student’s response across the passage should be 

considered as a whole. 

[12 marks] 

 

Conveying key messages 

 

Level Marks Response 

6 6 All key messages are conveyed. 

5 5 Nearly all key messages are conveyed. 

4 4 Most key messages are conveyed. 

3 3 Some key messages are conveyed. 

2 2 Few key messages are conveyed. 

1 1 Very few key messages are conveyed. 

0 0 The content does not meet the standard required for Level 1 at this tier. 
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Application of grammatical knowledge of language and structures 
 

Level Marks Response 

6 6 Excellent knowledge of vocabulary and structures; virtually faultless. 

5 5 Very good knowledge of vocabulary and structures; highly accurate. 

4 4 Good knowledge of vocabulary and structures; generally accurate. 

3 3 Reasonable knowledge of vocabulary and structures; more accurate than 
inaccurate. 

2 2 Limited knowledge of vocabulary and structures; generally inaccurate. 

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate. 

0 0 The language produced does not meet the standard required for Level 1 at this 
tier. 

 

Notes 

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of 

grammatical knowledge of language and structures, but apart from that, the Conveying key 

messages mark does not limit the mark for Application of grammatical knowledge of language and 

structures. 
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Key messages 
 

1 I walk to school every day אני מטייל לבית ספר כל יום 

2 I enjoy the fresh air אני נהנה מהאויר הצח 

3 And it is also וזה גם 

4 Good for the environment טוב לאיכות הסביבה 

5 Yesterday אתמול 

6 I woke up late אני קמתי מאוחר/ קמתי מאוחר 

7 So I travelled to school by bus  אז נסעתי לבית הספר באוטובוס/אז אני
 נסעתי לבית הספר באוטובוס

8 It was very comfortable זה היה נוח מאד/ זה היה מאד נוח 

9 Next Sunday morning ביום ראשון הבא 

10 My brother will study for his 
exams 

אח שלי ילמד למבחנים שלו/ אחי ילמד 
 למבחנים שלו

11 And in the afternoon ואחרי הצהרים 

12 I will volunteer אתנדב/ אני אתנדב 

13 For a charity organisation ארגון צדקהב/ל  

 
Other reasonable alternative translations will also be accepted. 
 
A tick will be awarded for each key message that is communicated, despite any minor inaccuracies.  The 
total number of ticks awarded equates to a mark according to this table.  
 

Total ticks Mark 

13 6 

11/12 5 

8/9/10 4 

5/6/7 3 

3/4 2 

1/2 1 

 




